IRENARZIR

(2 ROSRFE=F—T)Vai, BIISHEITE]

108108 (+) ~11838H(N)

6 58
7 55
8
9 0 22 47
10 0 30
11 0 19
12 30
13 0 8 30
14 8
15 0 30 40
16 0 30
17 58
18 53
19 50
20

XIRFEH - ROHET (BINFUVET)

(T aiFE=12 ROER]

108108 () ~11A3H(X)

6 44
7 39
8 36
9 16 41
10 16 49
11 5 16
12 o0 49
13 49 16 49
14
15 16 25 49
16 16 021 49
17
18 39
19 34
20

XIRFER - ROHET(B)NFUVEF)
o =P ROBR->ZFrA ~EEAR X > 5—-17E

11848 (K) ~118238 (A)
6 58
7 55
8
9 20 40 47
10 0 20 40
11 0 19
12 40
13 0 8 20 40
14 0 8
15 0 20 40 40
16 0 20 40
17 58
18 53
19 50
20
XFRFEER - ROHBIT (5-7°IEiTT)
11848 (K) ~118238 (A)
6 44
7 39
8 36
9 30 50
10 13 33 53
11 5 13
12 o0 53
13 13 33 49 53
14 13
15 13 25 33 53
16 13 021 33 49
17
18 39
19 34
20

XIRF(EE - DFHEIT (T —TIVATFE)




